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) 1f me7 =100°, then mu3= _M 5 ) If m£3=140°, then m£8= #,Qi
2) 1t ms7=175, then m6= 5% 6) If mza=30°, then ma= /$8°
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Use the picture above to identify the special name for the angle pairs.
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&+ Find the value of x.
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Ax+l= |Ix-23
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1. Given: l//m
Prove: ms1 = ms8
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Statements Reasons
L /™ Griven
Z.1 2 <N Vertical angles
Z.Y = 43 Corresponcl{nj aﬂﬁles
Z 1 =<8 Tronsi five ngaw'?}
Mmel = m&g Def of COr\gruenWCe .

2. Given: l/im
Prove: ms1 + mes7 = 180°
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\ / m C?;'&iu‘\
T L5 Corresponding angles
Mmcl= m<L5 Def of Cangruence

Mes 4+ m< Tz | 8°

SU.PFL: Wﬂt&r% ﬁw»ﬁ e e

m &l ﬂéé‘“mé»mi“:: \%Q‘“

3\.&\95—‘\' o t\sﬁ\;} P(Q_P.g(gj




3. Given: l//m
Prove: £1 and 46 are supplementary.

N\

Statements Reasons
LV Ecy [mel =mlY |(Coesponding amples /Del =

MmeYy 4+ mEG = [ &o®

Con seulive jﬁg@ﬁéir ang les

me| ¢+ M<p = | do°

S{IAMT /Wé&/ﬁf@/ﬂer{% .

Z. | and 46 are Se

Def of §@ﬂéﬁhmé’§rﬁ

§, Given: l//m

Prove: £a = £

/ 1\¢2

< 3\

m 5\ 6
\,7\

Statements Reasons
| I m Corven
L2= L3 Verfical angles
2.3 = L7 Cofces Pmdaf\ﬁ gknq)[
LS LN Transi live Pfopﬂft‘j




5) Given: [ mand £1 = £3

Prove: rli p

2-Column Proof:

(LIELZJ[ /_2.&“;43’}[ rlip J[ m J[ GivenJ

[ Converse of Alternate Exterior Angles Theorem ] { £1 =243 ] [ Given ]

[ Corresponding Angles Postulate J [ Transitive Property of Congruence J




